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	 1.	W hich of the following cannot be the 
probability of an event ?

	 (A)	 0.4	 (B)	 4%

	 (C)	 0.04%	 (D)	 4

	 (E)	 Not attempted

	 2.	 Nominal Gross Domestic Product (GDP) is

	 (A)	G ross Domestic Product (GDP) 
evaluated at per capita income

	 (B)	G ross Domestic Product (GDP) 
evaluated at current market prices

	 (C)	G ross Domestic Product (GDP) 
evaluated at constant market prices

	 (D)	 None of the above

	 (E)	 Not attempted

	 3.	 In a certain code language, ‘‘in the end’’ 
means ‘‘moh fjk omt’’, ‘‘end is near’’ means 
‘‘azh moh bod’’ and ‘‘in near future’’ means 
‘‘omt azh epy’’. What will be the code for 
‘‘near’’ ?

	 (A)	 moh	 (B)	 epy
	 (C)	 bod	 (D)	 azh
	 (E)	 Not attempted

	 4.	W hat is the rank of Haryana among 
Indian States in terms of software export ?

	 (A)	 First	 (B)	 Third

	 (C)	S econd	 (D)	 Fourth

	 (E)	 Not attempted

	 5.	 When was the first General Election of 
India held ?

	 (A)	 1948 – 49
	 (B)	 1951 – 52
	 (C)	 1956 – 57
	 (D)	 None of the above
	 (E)	 Not attempted

	 1.	 {ZåZ{b{IV _| go H$m¡Z-gr {H$gr KQ>Zm H$s 
àm{`H$Vm Zht hmo gH$Vr ?

	 (A)	 0.4	 (B)	 4%
	 (C)	 0.04%	 (D)	 4

	 (E)	Aà`m{gV

	 2.	 Zm__mÌ gH$b Kaoby CËnmX (Or.S>r.nr.) h¡ 
	 (A)	à{V ì`pŠV Am` na _yë`m§H$Z {H$`m J`m 

gH$b Kaoby CËnmX (Or.S>r.nr.)
	 (B)	dV©_mZ ~mOma _yë`m| na _yë`m§H$Z {H$`m 

J`m gH$b Kaoby CËnmX (Or.S>r.nr.)
	 (C)	 pñWa ~mOma _yë`m| na _yë`m§H$Z {H$`m J`m 

gH$b Kaoby CËnmX (Or.S>r.nr.)
	 (D)	Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV

	 3.	 {H$gr Hy$Q> ^mfm _| ‘‘in the end’’ H$m AW© ‘‘moh 

fjk omt’’ h¡, ‘‘end is near’’ H$m AW© ‘‘azh moh 

bod’’ h¡ Am¡a ‘‘in near future’’ H$m AW© ‘‘omt 

azh epy’’ h¡ & “near’’ Ho$ {bE Hy$Q> Š`m hmoJm ?

	 (A)	 moh	 (B)	 epy

	 (C)	 bod	 (D)	 azh

	 (E)	Aà`m{gV

	 4.	 gm°âQ>do`a {Z`m©V Ho$ _m_bo _| h[a`mUm H$m 

^maVr` amÁ`m| _| Š`m ñWmZ h¡ ?

	 (A)	nhbm	 (B)	Vrgam

	 (C)	Xÿgam	 (D)	Mm¡Wm

	 (E)	Aà`m{gV

	 5.	 ^maV H$m nhbm Am_ MwZmd H$~ hþAm Wm ?

	 (A)	 1948 – 49

	 (B)	 1951 – 52

	 (C)	 1956 – 57

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV
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	 6.	 The signs of abscissa and ordinate 
of a point in the second quadrant are 
respectively

	 (A)	 (–, +)	 (B)	 (+, –)
	 (C)	 (+, +)	 (D)	 (–, –)
	 (E)	 Not attempted

	 7.	 If sin2θ – cos2θ = 0, then θ is 
	 (A)	 0°	 (B)	 45°
	 (C)	 30°	 (D)	 90°
	 (E)	 Not attempted

	 8.	W hat type of signal does Integrated 
Services Digital Network (ISDN) use ?

	 (A)	A nalog

	 (B)	 Digital

	 (C)	 Hybrid

	 (D)	 None of the above

	 (E)	 Not attempted

	 9.	 Select the correct alternative that indicates 
the arrangement of the given words in 
the order in which they appear in English 
Dictionary.

	 1.	 Prestige
	 2.	 Pristine
	 3.	 Prescribe
	 4.	 Prepaid
	 5.	 Premium

	 (A)	 4, 5, 3, 2, 1	 (B)	 5, 3, 4, 1, 2
	 (C)	 5, 4, 3, 1, 2	 (D)	 4, 5, 3, 1, 2
	 (E)	 Not attempted

	 10.	W hich canal irrigates Gurugram and 
Faridabad districts of Haryana ?

	 (A)	 Bhakra Canal

	 (B)	 Bhiwani Canal

	 (C)	 Jawahar Lal Canal

	 (D)	G urugram Canal

	 (E)	 Not attempted

	 6.	 {ÛVr` MVwWmªe _| EH$ q~Xþ Ho$ ^wO Am¡a H$mo{Q> Ho$ 
{M• H«$_e: h¢ 

	 (A)	 (–, +)	 (B)	 (+, –)
	 (C)	 (+, +)	 (D)	 (–, –)

	 (E)	Aà`m{gV

	 7.	 `{X sin2θ – cos2θ = 0 h¡, Vmo θ h¡
	 (A)	 0°	 (B)	 45°
	 (C)	 30°	 (D)	 90°
	 (E)	Aà`m{gV

	 8.	 B§Q>rJ«oQ>oS> g{d©gog {S>{OQ>b ZoQ>dH©$ (AmB©.Eg.S>r.EZ.) 
{H$g àH$ma Ho$ {g½Zb H$m Cn`moJ H$aVm h¡ ?

	 (A)	EZmbm°J

	 (B)	 {S>{OQ>b

	 (C)	hmB{~«S>

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV

	 9.	 ghr {dH$ën H$m M`Z H$s{OE Omo {XE JE eãXm| 
H$mo Cg H«$_ _| Xem©Vm h¡, O¡go do A§J«oOr eãXH$moe 
_| AmVo h¢ &

	 1.	 Prestige
	 2.	 Pristine
	 3.	 Prescribe
	 4.	 Prepaid
	 5.	 Premium

	 (A)	 4, 5, 3, 2, 1	 (B)	 5, 3, 4, 1, 2

	 (C)	 5, 4, 3, 1, 2	 (D)	 4, 5, 3, 1, 2
	 (E)	Aà`m{gV

	 10.	 h[a`mUm Ho$ JwéJ«m_ Am¡a \$arXm~mX {Obm| H$s 
qgMmB© H$m¡Z-gr Zha H$aVr h¡ ?

	 (A)	^mI‹S>m Zha
	 (B)	 {^dmZr Zha
	 (C)	Odmha bmb Zha
	 (D)	JwéJ«m_ Zha
	 (E)	Aà`m{gV
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	 11.	 Select the word from the given alternatives 
which cannot be formed by using the 
letters of the following word.

		  Conversation

	 (A)	 nation	 (B)	 station

	 (C)	 version	 (D)	 reason

	 (E)	 Not attempted

	 12.	W hich of the following pair is not correctly 
matched regarding the Cabinet of Akbar ?

	 (A)	V akil	 –	 Chief Minister
	 (B)	 Diwan-i-Ali	 –	 In-charge of 		

		  Charities
	 (C)	 Diwan	 –	 Revenue Minister
	 (D)	 Khan-i-Saman	 –	 Home Minister
	 (E)	 Not attempted

	 13.	 What is the name of the woolen muffler worn 
around the neck by men in Haryana ?

	 (A)	G uliband

	 (B)	 Kamari

	 (C)	 Mirjai

	 (D)	 Chaddar

	 (E)	 Not attempted

	 14.	 Which of the following is not true ?

	 (A)	
2
3

5
4

5
4

2
3

− = −

	 (B)	
2
3

5
4

5
4

2
3

× = ×

	 (C)	
2
3

5
4

5
4

2
3

+ = +

	 (D)	
2
3

5
4

2
3

4
5

÷ = ×

	 (E)	 Not attempted

	 11.	 {XE JE {dH$ënm| _| go dh eãX Mw{ZE Omo 
{ZåZ{b{IV eãX Ho$ Ajam| H$m à`moJ H$aHo$ Zht 
~Zm`m Om gH$Vm h¡ &

		  Conversation
	 (A)	 nation	 (B)	 station
	 (C)	 version	 (D)	 reason

	 (E)	Aà`m{gV

	 12.	 AH$~a Ho$ _§Ìr_§S>b Ho$ g§~§Y _| {ZåZ{b{IV _| 

go H$m¡Z-gm `w½_ ghr gw_o{bV Zht h¡ ?

	 (A)	dH$sb	 -	_w»`_§Ìr

	 (B)	XrdmZ-E-Abr	 -	XmZ Ho$ à^mar

	 (C)	XrdmZ	 -	 amOñd _§Ìr	

	 (D)	ImZ-E-gm_mZ	 -	J¥h _§Ìr

	 (E)	Aà`m{gV

	 13.	 h[a`mUm _| nwéfm| Ûmam Jbo _| nhZo OmZo dmbo 

D$Zr _\$ba H$m Š`m Zm_ h¡ ?

	 (A)	Jwbr~ÝX

	 (B)	H$_ar

	 (C)	 {_aOB©

	 (D)	MmXa

	 (E)	Aà`m{gV

	 14.	 {ZåZ{b{IV _| go H$m¡Z-gm gË` Zht h¡ ?

	 (A)	
2
3

5
4

5
4

2
3

− = −

	 (B)	
2
3

5
4

5
4

2
3

× = ×

	 (C)	
2
3

5
4

5
4

2
3

+ = +

	 (D)	
2
3

5
4

2
3

4
5

÷ = ×

	 (E)	Aà`m{gV
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	 15.	 Perfetti Van Melle India is located in 

which district of Haryana ?

	 (A)	 Faridabad

	 (B)	A mbala

	 (C)	G urugram

	 (D)	S onipat

	 (E)	 Not attempted

	 16.	A rticle 21 of Indian Constitution states 

that no person shall be deprived of his life 

or personal liberty except

	 (A)	 By the President’s order

	 (B)	 By the Prime Minister’s consent

	 (C)	A ccording to the procedure 

established by law

	 (D)	 None of the above

	 (E)	 Not attempted

	 17.	 The meaning of Phulkari is

	 (A)	 A large part of villages of Haryana

	 (B)	A n art of making clay pots

	 (C)	A n art of shawl making

	 (D)	 None of the above

	 (E)	 Not attempted

	 18.	 Complete the following analogy.

		
: : : : ?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 (E)	 Not attempted

	 15.	 h[a`mUm Ho$ {H$g {Obo _| na\o$Q>r d¡Z _obo B§{S>`m 
pñWV h¡ ?

	 (A)	\$arXm~mX
	 (B)	A§~mbm
	 (C)	JwéJ«m_
	 (D)	gmoZrnV
	 (E)	Aà`m{gV

	 16.	 ^maVr` g§{dYmZ Ho$ AZwÀN>oX 21 _| H$hm J`m 
h¡ {H$ {H$gr ^r ì`pŠV H$mo CgHo$ OrdZ `m 
ì`pŠVJV ñdV§ÌVm go d§{MV Zht {H$`m OmEJm, 
{gdm`

	 (A)	 amîQ´>n{V Ho$ AmXoe go
	 (B)	àYmZ_§Ìr H$s gh_{V go
	 (C)	H$mZyZ Ûmam ñWm{nV à{H«$`m Ho$ AZwgma
	 (D)	Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV

	 17.	 \w$bH$mar H$m AW© h¡ 
	 (A)	h{a`mUm Ho$ Jm±dm| H$m EH$ ~‹S>m {hñgm
	 (B)	 {_Å>r Ho$ ~V©Z ~ZmZo H$s EH$ H$bm
	 (C)	em°b ~ZmZo H$s EH$ H$bm
	 (D)	Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV

	 18.	 {ZåZ{b{IV g_ê$nVm nyU© H$s{OE &

		
: : : : ?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 (E)	Aà`m{gV
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	 19.	 What does DSS stand for ?

	 (A)	 Digital Satellite Service

	 (B)	 Direct Satellite System

	 (C)	 Digital Satellite System

	 (D)	 Direct Service Satellite

	 (E)	 Not attempted

	 20.	 If a : b = 5 : 7 and b : c = 8 : 9, then what 
is the ratio of a : c ?

	 (A)	 35 : 54	 (B)	 40 : 63

	 (C)	 45 : 63	 (D)	 40 : 54

	 (E)	 Not attempted

	 21.	 The National Voters’ Day is observed on

	 (A)	 25th November

	 (B)	 26th November

	 (C)	 30th December

	 (D)	 25th January

	 (E)	 Not attempted

	 22.	W hat is the name of the mirror-studded ring 
worn on the right hand thumb by women in 
Haryana ?

	 (A)	A nant

	 (B)	A arsi

	 (C)	 Kangni

	 (D)	 Ponche

	 (E)	 Not attempted

	 23.	W hich of the following was the partner State 

of International Gita Mahotsav 2024 ?

	 (A)	G ujarat

	 (B)	 Uttar Pradesh

	 (C)	 Odisha

	 (D)	 Rajasthan

	 (E)	 Not attempted

	 19.	 S>r.Eg.Eg. H$m Š`m AW© h¡ ?
	 (A)	 {S>{OQ>b g¡Q>obmBQ> g{d©g
	 (B)	S>m`aoŠQ> g¡Q>obmBQ> {gñQ>_
	 (C)	 {S>{OQ>b g¡Q>obmBQ> {gñQ_
	 (D)	S>m`aoŠQ> g{d©g g¡Q>obmBQ>
	 (E)	Aà`m{gV

	 20.	 `{X a : b = 5 : 7 Am¡a b : c = 8 : 9 h¡, Vmo  
a : c H$m AZwnmV Š`m hmoJm ?

	 (A)	 35 : 54	 (B)	 40 : 63

	 (C)	 45 : 63	 (D)	 40 : 54
	 (E)	Aà`m{gV

	 21.	 amîQ´>r` _VXmVm {Xdg _Zm`m OmVm h¡ 
	 (A)	25 Zd§~a
	 (B)	26 Zd§~a
	 (C)	30 {Xg§~a	
	 (D)	25 OZdar
	 (E)	Aà`m{gV

	 22.	 h[a`mUm _| _{hbmAm| Ûmam Xm{hZo hmW Ho$ A±JyR>o 
_| nhZo OmZo dmbr ereo go O‹S>r A±JyR>r H$m Zm_ 
Š`m h¡ ?

	 (A)	AZ§V
	 (B)	Amagr
	 (C)	H$m±JZr
	 (D)	nm|Mo
	 (E)	Aà`m{gV

	 23.	 {ZåZ{b{IV _| go H$m¡Z-gm A§Vam©îQ´>r` JrVm 

_hmoËgd 2024 H$m ^mJrXma amÁ` Wm ?

	 (A)	JwOamV

	 (B)	CÎma àXoe

	 (C)	AmoS>rem

	 (D)	 amOñWmZ

	 (E)	Aà`m{gV
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	 24.	 Which of the following diagrams 
indicates the best relationship between 
Quadrilateral, Rhombus, Polygons ?

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 Not attempted

	 25.	 Which of the following is a joint venture 
between Japan and France located in 
Sonipat district of Haryana ?

	 (A)	 Nestle India

	 (B)	 Yakult Danone India Private Limited

	 (C)	G laxo Smith Kline

	 (D)	 Ranbaxy

	 (E)	 Not attempted

	 26.	W hen was ASEAN (Association of South 
East Asian Nations) established ?

	 (A)	 1967	 (B)	 1985

	 (C)	 1992	 (D)	 1949

	 (E)	 Not attempted

	 27.	 How many times President’s Rule has 
been imposed in Haryana ?  

	 (A)	 One	 (B)	 Two

	 (C)	 Three	 (D)	 None of these  

	 (E)	 Not attempted

	 24.	 {ZåZ{b{IV _| go H$m¡Z-gm AmaoI MVw^w©O, 
g_MVw^w©O Am¡a ~hþ^wO Ho$ ~rM gdm}Îm_ g§~§Y 
Xem©Vm h¡ ?

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	Aà`m{gV

	 25.	 h[a`mUm Ho$ gmoZrnV {Obo _| pñWV {ZåZ{b{IV 
_| go H$m¡Z-gm OmnmZ Am¡a \«$m§g Ho$ ~rM EH$ 
g§`wŠV CÚ_ h¡ ?

	 (A)	Zoñbo B§{S>`m
	 (B)	`mHw$ëQ> S>¡ZmoZ B§{S>`m àmBdoQ> {b{_Q>oS>
	 (C)	 ½b¡Šgmo pñ_W ŠbmBZ
	 (D)	 a¡Z~¡Šgr
	 (E)	Aà`m{gV

	 26.	 Am{g`mZ (X{jU nyd© E{e`mB© amîQ´>m| H$m g§K) 
H$s ñWmnZm H$~ hþB© Wr ?

	 (A)	 1967	 (B)	 1985
	 (C)	 1992	 (D)	 1949
	 (E)	Aà`m{gV

	 27.	 h[a`mUm _| {H$VZr ~ma amîQ´>n{V emgZ bJm`m 
J`m ? 

	 (A)	EH$ 	 (B)	Xmo  
	 (C)	VrZ  	 (D)	 BZ_| go H$moB© Zht 
	 (E)	 Aà`m{gV
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	 28.	 A train travels at a speed of x km/hr for  
2 hours, then decreases its speed by  
10 km/hr and travels for another 3 hours. 
If the total distance covered is 370 km, 
then what is the initial speed of train ?

	 (A)	 80 km/hr	 (B)	 100 km/hr

	 (C)	 90 km/hr	 (D)	 60 km/hr

	 (E)	 Not attempted

	 29.	 In which year ‘Har Ghar Hariyali Yojana’ 
was launched in Haryana ?

	 (A)	 2017	 (B)	 2016
	 (C)	 2015	 (D)	 2018
	 (E)	 Not attempted

	 30.	W hich tier of Panchayati Raj is 
responsible for rural development at the 
district level in Haryana ?

	 (A)	G ram Panchayat
	 (B)	 Panchayat Samiti
	 (C)	 Zila Parishad
	 (D)	G ram Sabha
	 (E)	 Not attempted

	 31.	 Consider the following statements about 
Ajanta caves.

	 i.	 They are located in the Aurangabad 
district of Maharashtra.

	 ii.	 It has twenty nine caves, built over a 
period of almost eight centuries.

	 iii.	 Cave number 26 is very big and 
entire interior hall is carved with 
variety of Buddha images.

	 iv.	 The biggest one is Mahaparinibbana 
image.

		  Which of the statements given above is/are 
correct ?

	 (A)	 Only i and ii
	 (B)	 Only iii and iv
	 (C)	 Only i
	 (D)	 All of the above
	 (E)	 Not attempted

	 28.	 EH$ Q´>oZ x {H$_r/K§Q>o H$s J{V go 2 K§Q>o VH$ 
MbVr h¡, {\$a AnZr J{V 10 {H$_r/K§Q>m H$_ 
H$a XoVr h¡ Am¡a A{V[aŠV 3 K§Q>o VH$ `mÌm H$aVr 
h¡ & `{X V` H$s JB© Hw$b Xÿar 370 {H$_r h¡, Vmo 
Q´>oZ H$s àma§{^H$ J{V Š`m h¡ ?

	 (A)	80 {H$_r/K§Q>m	 (B)	100 {H$_r/K§Q>m
	 (C)	90 {H$_r/K§Q>m	 (D)	60 {H$_r/K§Q>m
	 (E)	Aà`m{gV

	 29.	 h[a`mUm _| "ha Ka h[a`mbr `moOZm' {H$g df© 
ewê$ H$s JB© Wr ?

	 (A)	 2017	 (B)	 2016
	 (C)	 2015	 (D)	 2018
	 (E)	 Aà`m{gV

	 30.	 h[a`mUm _| {Obm ñVa na J«m_rU {dH$mg Ho$ {bE 
n§Mm`Vr amO H$m H$m¡Z-gm ñVa CÎmaXm`r h¡ ?

	 (A)	J«m_ n§Mm`V
	 (B)	n§Mm`V g{_{V
	 (C)	 {Obm n[afX
	 (D)	J«m_ g^m
	 (E)	Aà`m{gV

	 31.	 AO§Vm Jw\$mAm| Ho$ ~mao _| {ZåZ{b{IV H$WZm| na 
{dMma H$a| &

	 i.	 do _hmamîQ́> Ho$ Am¡a§Jm~mX {Obo _| pñWV h¢ &
	 ii.	 Bg_| CZVrg Jw\$mE± h¢, Omo bJ^J AmR> 

eVmpãX`m| H$s Ad{Y _| ~ZmB© JB© h¢ &
	 iii.	 Jw\$m g§»`m 26 ~hþV ~‹S>r h¡ Am¡a nyao 

Am§V[aH$ hm°b _| ~wÕ H$s {d{^Þ N>{d`m± 
CHo$ar JB© h¢ &

	 iv.	 g~go ~‹S>r N>{d _hmn[a{Zã~mZ H$s h¡ &
		  Cn ẁ©ŠV _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?

	 (A)	 Ho$db i Am¡a ii
	 (B)	 Ho$db iii Am¡a iv
	 (C)	 Ho$db i
	 (D)	 Cn`w©ŠV g^r
	 (E)	Aà`m{gV
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	 32.	 Badhkal Lake is located in which district 
of Haryana ? 

	 (A)	 Hisar 	 (B)	 Faridabad 

	 (C)	 Kurukshetra 	 (D)	 Panchkula

	 (E)	 Not attempted

	 33.	 Choose the figure from the given alternatives 
in which the following figure is embedded.

		

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 (E)	 Not attempted

	 34.	 Consider the following statements about 
river water system of India.

	 1.	 In Deccan Region, most of the major 
river systems flowing generally in the 
east fall in to Bay of Bengal.

	 2.	 The river Cauvery in the southern 
peninsula has the second largest 
river basin covering 10 percent of the 
area of the India.

		  Which of the above statements is/are 
correct ?

	 (A)	 Only 1
	 (B)	 Only 2
	 (C)	 Both 1 and 2
	 (D)	 None of the above
	 (E)	 Not attempted

	 32.	 h[a`mUm Ho$ {H$g {Obo _| ~‹S>Ib Prb  

pñWV h¡ ? 

	 (A)	 {hgma 	 (B)	\$arXm~mX 

	 (C)	Hw$éjoÌ 	 (D)	n§MHy$bm

	 (E)	 Aà`m{gV

	 33.	 {XE JE {dH$ënm| _| go Cg AmH¥${V H$m M`Z 
H$s{OE {Og_| {ZåZ{b{IV AmH¥${V {N>nr hþB© h¡ &

		

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 (E)	Aà`m{gV

	 34.	 ^maV H$s ZXr Ob àUmbr Ho$ ~mao _| 
{ZåZ{b{IV H$WZm| na {dMma H$a| &

	 1.	XŠIZ joÌ _| nyd© _| ~hZo dmbr A{YH$m§e 
à_wI ZXr àUm{b`m± ~§Jmb H$s Im‹S>r _| 
{JaVr h¢ &

	 2.	X{jUr àm`Ûrn _| H$mdoar ZXr ^maV Ho$  
10 à{VeV joÌ H$mo H$da H$aZo dmbr Xÿgar 
g~go ~‹S>r ZXr ~o{gZ h¡ &

		  Cn`w©ŠV _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?
	 (A)	Ho$db 1
	 (B)	Ho$db 2
	 (C)	1 Am¡a 2 XmoZm|
	 (D)	Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV
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	 35.	 Ghaggar-Hakra river basin is classified in 
two parts, where the higher area that is 
not flooded in rainy season is called

	 (A)	 Khadar	 (B)	 Kalar

	 (C)	 Bangar	 (D)	 Banjar

	 (E)	 Not attempted

	 36.	 The sum of ages of A and B is 72. If they 
are in the ratio 23 : 13, then find the age 
of B.

	 (A)	 32 years	 (B)	 46 years

	 (C)	 24 years	 (D)	 26 years

	 (E)	 Not attempted

	 37.	 What are data chunks transmitted over 
the Internet called ?

	 (A)	 Frames	 (B)	 Packets

	 (C)	S egments	 (D)	 Bytes

	 (E)	 Not attempted

	 38.	W hich traditional jewelry piece worn by 
Haryanvi brides consists of a spherical-
shaped ornament attached to a string of 
gold ?

	 (A)	 Nath

	 (B)	 Borla

	 (C)	 Koka

	 (D)	 None of the above

	 (E)	 Not attempted

	 39.	 In the following letter series, some of the 
letters are missing which are given in that 
order as one of the alternatives below it. 
Choose the correct alternative.

		  _ bc _ ca _ aba _ c _ ca

	 (A)	 abcbb	 (B)	 bbbcc

	 (C)	 baaba	 (D)	 abbcc

	 (E)	 Not attempted

	 35.	 K½Ja-hmH$am ZXr KmQ>r H$mo Xmo ^mJm| _| ~m±Q>m J`m 
h¡, Ohm± dfm© Ho$ _m¡g_ _| ~m‹T>J«ñV Z hmoZo dmbo 
CÀMVa joÌ H$mo H$hm OmVm h¡

	 (A)	ImXa	 (B)	H$ba 
	 (C)	~m±Ja	 (D)	~§Oa
	 (E)	Aà`m{gV

	 36.	 A Am¡a B H$s Am`w H$m `moJ 72 h¡ & `{X CZH$s 
Am`w H$m AZwnmV 23 : 13 h¡, Vmo B H$s Am`w 
kmV H$s{O`o &

	 (A)	 32 df©	 (B)	 46 df©
	 (C)	 24 df©	 (D)	 26 df©
	 (E)	Aà`m{gV

	 37.	 B§Q>aZoQ> na àgm[aV S>oQ>m M§H$ H$mo Š`m H$hm  
OmVm h¡ ?

	 (A)	 µ\«o$_	 (B)	n¡Ho$Q>
	 (C)	goJ_|Q>	 (D)	~mBQ²>g
	 (E)	Aà`m{gV

	 38.	 h[a`mUdr XwëhZm| Ûmam nhZo OmZo dmbm H$m¡Z-gm 

nma§n[aH$ Am^yfU EH$ gmoZo H$s b‹S>r go Ow‹S>o 

JmobmH$ma JhZo go ~Zm hmoVm h¡ ?

	 (A)	ZW

	 (B)	~moabm

	 (C)	H$moH$m

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV

	 39.	 {ZåZ{b{IV Aja ûm¥§Ibm _| Hw$N> Aja bwßV h¢ 

Omo CgHo$ ZrMo EH$ {dH$ën Ho$ ê$n _| Cgr H«$_ _| 

{XE JE h¡ & ghr {dH$ën Mw{ZE &
		  _ bc _ ca _ aba _ c _ ca

	 (A)	 abcbb	 (B)	 bbbcc

	 (C)	 baaba	 (D)	 abbcc

	 (E)	Aà`m{gV
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	 40.	 If ‘A’ means ‘+’, ‘B’ means ‘–’, ‘C’ means ‘÷’,  
and ‘D’ means ‘×’, then the value of

		  18A12C6D2B5 is

	 (A)	 15	 (B)	 25

	 (C)	 17	 (D)	 45

	 (E)	 Not attempted

	 41.	W ho is popularly known as the ‘Swang 
Samrat’ of Haryana ? 

	 (A)	 Harish Kataria 

	 (B)	 Pandit Lakhmi Chand 

	 (C)	 Baje Bhagat

	 (D)	A li Baksh 

	 (E)	 Not attempted

	 42.	A n article is marked at ` 3,000 and is sold 
at a 40% discount. If the shopkeeper incurs 
a 10% loss on the cost price, then what 
was the original cost price of the article ?

	 (A)	 ` 2,000	 (B)	 ` 2,100

	 (C)	 ` 1,800	 (D)	 ` 2,250

	 (E)	 Not attempted

	 43.	 The Chalukyan style of architecture is the 
unique synthesis of which of the following 
styles of architecture ?

	 (A)	 Dravida and Nagara styles

	 (B)	 Dravida and Kalinga styles

	 (C)	 Nagara and Hoysala styles

	 (D)	 None of the above

	 (E)	 Not attempted

	 44.	W hat does the computer do with the input 
received ?

	 (A)	 It deletes the data
	 (B)	 It processes the input and generates 

output
	 (C)	 It sends the data to another computer
	 (D)	 None of the above
	 (E)	 Not attempted

	 40.	 `{X ‘A’ H$m AW© ‘+’ h¡, ‘B’ H$m AW© ‘–’ h¡, 
‘C’ H$m AW© ‘÷’ h¡, ‘D’ H$m AW© ‘×’ h¡, Vmo 
18A12C6D2B5 H$m _mZ h¡

	 (A)	 15	 (B)	 25
	 (C)	 17	 (D)	 45

	 (E)	Aà`m{gV

	 41.	 h[a`mUm Ho$ "ñdm§J g_«mQ>' Ho$ Zm_ go H$m¡Z 
bmoH${à` h¡ ? 

	 (A)	hare H$Q>m[a`m 
	 (B)	n§{S>V bI_r M§X 
	 (C)	~mOo ^JV
	 (D)	Abr ~»e 
	 (E)	 Aà`m{gV

	 42.	 EH$ dñVw na ` 3,000 A§{H$V h¡ Am¡a dh 40% 
H$s Ny>Q> na ~oMm OmVm h¡ & `{X XþH$mZXma H$mo 
bmJV _yë` na 10% H$s hm{Z hmoVr h¡, Vmo dñVw 
H$m dmñV{dH$ bmJV _yë` Š`m Wm ?

	 (A)	` 2,000	 (B)	` 2,100
	 (C)	` 1,800	 (D)	` 2,250
	 (E)	Aà`m{gV

	 43.	 MmbwŠ` dmñVwH$bm e¡br {ZåZ{b{IV _| go {H$g 

dmñVwH$bm e¡br H$m A{ÛVr` g§íbofU h¡ ?

	 (A)	Ð{d‹S> Am¡a ZmJa e¡br

	 (B)	Ð{d‹S> Am¡a H$qbJ e¡br

	 (C)	ZmJa Am¡a hmo`gb e¡br

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV

	 44.	 àmßV BZnwQ> Ho$ gmW H§$ß`yQ>a Š`m H$aVm h¡ ?
	 (A)	`h S>oQ>m H$mo hQ>mVm h¡
	 (B)	`h BZnwQ> H$mo àmogog H$aVm h¡ Am¡a AmCQ>nwQ> 

OZaoQ> H$aVm h¡
	 (C)	`h S>oQ>m H$mo Xÿgao H§$ß`yQ>a na ^oOVm h¡
	 (D)	Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV
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	 45.	 How many times in a day, are the hands 
of a clock in straight line but opposite 
direction ?

	 (A)	 22	 (B)	 24
	 (C)	 20	 (D)	 48
	 (E)	 Not attempted

	 46.	W hich number will come in the place of 
question mark (?) in the following number 
series ?

		  3, 5, 9, ?, 33, 65
	 (A)	 13	 (B)	 15
	 (C)	 17	 (D)	 19
	 (E)	 Not attempted

	 47.	 What is the significance of the ‘Peeliya’ 

Odhani in Haryana’s customs ?

	 (A)	W orn during marriage ceremonies

	 (B)	 Given to a bride by her in-laws

	 (C)	S ent by parents to their daughter 

after the birth of a male child

	 (D)	 Worn during harvest festivals

	 (E)	 Not attempted

	 48.	W hich of the following is not a storage 

device ?

	 (A)	 Compact Disk (CD)

	 (B)	S olid-State Disk (SSD)

	 (C)	 Memory card

	 (D)	 Monitor

	 (E)	 Not attempted

	 49.	 The value of (0.3)3 is
	 (A)	 0.27	 (B)	 27
	 (C)	 0.027	 (D)	 0.0027
	 (E)	 Not attempted

	 45.	 EH$ {XZ _| {H$VZr ~ma K‹S>r H$s gwB©`m± EH$ grYr 
aoIm _| bo{H$Z {dnarV {XemAm| _| hmoVr h¢ ?

	 (A)	 22	 (B)	 24
	 (C)	 20	 (D)	 48

	 (E)	Aà`m{gV

	 46.	 {ZåZ{b{IV g§»`m ûm¥§Ibm _| àíZ {M• (?) Ho$ 
ñWmZ na H$m¡Z-gr g§»`m Am`oJr ?

		  3, 5, 9, ?, 33, 65

	 (A)	 13	 (B)	 15

	 (C)	 17	 (D)	 19
	 (E)	Aà`m{gV

	 47.	 h[a`mUm Ho$ [admOm| _| "nr{b`m' Amo‹T>Zr H$m Š`m 
_hËd h¡ ?

	 (A)	 {ddmh g_mamohm| Ho$ Xm¡amZ nhZm OmVm h¡ 
	 (B)	XþëhZ H$mo CgHo$ ggwamb dmbm| Ho$ Ûmam 

{X`m OmVm h¡ 
	 (C)	EH$ nwÌ Ho$ OÝ_ Ho$ ~mX ~oQ>r H$mo CgHo$ 

_mVm-{nVm Ûmam ^oOm OmVm h¡ 
	 (D)	\$gb H$Q>mB© Ho$ Ë`m¡hmam| Ho$ Xm¡amZ nhZm 

OmVm h¡ 
	 (E)	Aà`m{gV

	 48.	 {ZåZ{b{IV _| go H$m¡Z-gm ñQ>moaoO {S>dmBg  

Zht h¡ ?

	 (A)	H$m°ån¡ŠQ> {S>ñH$ (gr.S>r.)

	 (B)	 gm°{bS>-ñQ>oQ> {S>ñH$ (Eg.Eg.S>r.)

	 (C)	_o_moar H$mS>©	

	 (D)	_m°{ZQ>a

	 (E)	Aà`m{gV

	 49.	 (0.3)3 H$m _mZ h¡ 
	 (A)	 0.27	 (B)	 27
	 (C)	 0.027	 (D)	 0.0027

	 (E)	Aà`m{gV
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	 50.	 Who among the following Haryanvi 
singers was known for Ghazals in Hindi 
cinema during the 1930s and 1940s ?

	 (A)	 Zohrabai Ambalewali

	 (B)	 Lata Mangeshkar

	 (C)	 Noor Jahan

	 (D)	 Kishori Amonkar

	 (E)	 Not attempted

	 51.	 The sum of digits of a two-digit number 

is 11. If the digits are reversed, then the 

new number is 9 more than the original 

number. What is the original number ?

	 (A)	 56

	 (B)	 68

	 (C)	 45

	 (D)	 54

	 (E)	 Not attempted

	 52.	 What is the average of first 40 natural 

numbers ?

	 (A)	 19.5	 (B)	 20

	 (C)	 20.5	 (D)	 40

	 (E)	 Not attempted

	 53.	W hat is the relationship between HCF 
and LCM of two numbers a and b ?

	 (A)	 HCF + LCM = a + b

	 (B)	 HCF × LCM = a + b

	 (C)	 HCF × LCM = a × b

	 (D)	 None of the above

	 (E)	 Not attempted

	 50.	 {ZåZ{b{IV h[a`mUdr Jm`H$m| _| go H$m¡Z 1930 

Am¡a 1940 Ho$ XeH$m| _| {h§Xr {gZo_m _| JµObm| 

Ho$ {bE OmZr OmVr h¢ ?

	 (A)	 µOmoham~mB© Aå~mbodmbr

	 (B)	bVm _§JoeH$a

	 (C)	Zya Ohm±

	 (D)	 {H$emoar A_moZH$a

	 (E)	Aà`m{gV

	 51.	 Xmo A§H$m| H$s EH$ g§»`m Ho$ A§H$m| H$m `moJ 11 h¡ & 
`{X A§H$m| H$mo CbQ> {H$`m OmE, Vmo dmñV{dH$ 
g§»`m go ZB© g§»`m 9 A{YH$ h¡ & dmñV{dH$ 
g§»`m Š`m h¡ ?

	 (A)	 56

	 (B)	 68

	 (C)	 45

	 (D)	 54

	 (E)	Aà`m{gV

	 52.	 àW_ 40 àmH¥${VH$ g§»`mAm| H$m Am¡gV Š`m 
hmoJm ?

	 (A)	 19.5	 (B)	 20

	 (C)	 20.5	 (D)	 40

	 (E)	Aà`m{gV

	 53.	 Xmo g§»`mAm| a Am¡a b Ho$ _.g.n. Am¡a b.g.n. 
Ho$ ~rM Š`m g§~§Y h¡ ?

	 (A)	_.g.n. + b.g.n. = a + b

	 (B)	_.g.n. × b.g.n. = a + b

	 (C)	_.g.n. × b.g.n. = a × b

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV
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	 54.	W hich of the following famous battle was 
fought in Sirsa district of Haryana ?

	 (A)	 Battle of Thanesar

	 (B)	S econd Anglo-Sikh war

	 (C)	 Battle of Gujarat

	 (D)	 Battle of Chormar

	 (E)	 Not attempted

	 55.	 Which of the following are the primary 
components of a computer system ?

	 (A)	 Central Processing Unit (CPU), 
Monitor, Software and Cloud Storage

	 (B)	 Operating System, Software, 
Hardware and Internet

	 (C)	 Central Processing Unit (CPU), 
Memory, Input/Output devices and 
Storage devices

	 (D)	 None of the above

	 (E)	 Not attempted

	 56.	W hich computer was built at Cambridge 
University in 1946 ?

	 (A)	 Universal Automatic Calculator 
(UNIVAC) I

	 (B)	 Electronic Delay Storage Automatic 
Calculator (EDSAC)

	 (C)	 IBM 701
	 (D)	 PDP-8
	 (E)	 Not attempted

	 57.	 Who among the following was the first 
Indian-origin woman to travel to space 
and was born in Karnal, Haryana ?

	 (A)	S unita Williams 

	 (B)	 Santosh Yadav

	 (C)	 Manushi Chhillar 

	 (D)	 Kalpana Chawla

	 (E)	 Not attempted

	 54.	 h[a`mUm Ho$ {gagm {Obo _| {ZåZ{b{IV _| go 
H$m¡Z-gm à{gÕ `wÕ b‹S>m J`m Wm ?

	 (A)	WmZoga H$m `wÕ
	 (B)	 {ÛVr` Am§½b-{gŠI `wÕ
	 (C)	JwOamV H$m `wÕ
	 (D)	Mmoa_ma H$m `wÕ
	 (E)	Aà`m{gV

	 55.	 {ZåZ{b{IV _| go H$m¡Z-go H§$ß`yQ>a {gñQ>_ Ho$ 
àmW{_H$ KQ>H$ h¢ ?

	 (A)		 g|Q´>b àmogo{g§J `y{ZQ> (gr.nr.`y .), _m°{ZQ>a, 
gm°µâQ>do`a Am¡a ŠbmCS> ñQ>moaoO

	 (B)	Am°nao{Q>§J {gñQ>_, gm°âQ>do`a, hmS>©do`a Am¡a 
B§Q>aZoQ>

	 (C)	g|Q´>b àmogo{g§J `y{ZQ> (gr.nr.`y.), _o_moar, 
BZnwQ>/AmCQ>nwQ> {S>dmBg Am¡a ñQ>moaoO 
{S>dmBg

	 (D)	 Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV

	 56.	 1946 _| H¡$på~«O {díd{dÚmb` _| H$m¡Z-gm 
H§$ß`yQ>a ~Zm`m J`m Wm ?

	 (A)	 ỳ{Zdg©b Am°Q>mo_o{Q>H$ H¡$ëHw$boQ>a (UNIVAC) I
	 (B)	 BboŠQ´>m°{ZH$ {S>bo ñQ>moaoO Am°Q>mo_o{Q>H$ 

H¡$ëHw$boQ>a (EDSAC)
	 (C)	 IBM 701
	 (D)	 PDP-8
	 (E)	Aà`m{gV

	 57.	 {ZåZ{b{IV _| go H$m¡Z A§V[aj H$s `mÌm H$aZo 
dmbr nhbr ^maVr` _yb H$s _{hbm Wr Am¡a 
{OZH$m OÝ_ h[a`mUm Ho$ H$aZmb _| hþAm Wm ? 

	 (A)	gwZrVm {d{b`åg 
	 (B)	g§Vmof `mXd 
	 (C)	_mZwfr {N>ëba 
	 (D)	H$ënZm Mmdbm
	 (E)	 Aà`m{gV
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	 58.	 Which figure given in the alternatives will 
complete the pattern in the figure given in 
question ?

		  ?
	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 (E)	 Not attempted

	 59.	 The Sheetala Mata Fair is organized in 
which district of Haryana ?

	 (A)	G urugram

	 (B)	 Jhajjar

	 (C)	A mbala

	 (D)	 Karnal

	 (E)	 Not attempted

	 60.	A ngles of a quadrilateral are in the ratio  
3 : 4 : 4 : 7. Find the smallest angle.

	 (A)	 20°	
	 (B)	 60°
	 (C)	 80°	
	 (D)	 140°
	 (E)	 Not attempted

	 61.	 Which instrument is used to measure the 
wind velocity ?

	 (A)	 Odometer

	 (B)	 Thermometer

	 (C)	A nemometer

	 (D)	 None of the above

	 (E)	 Not attempted

	 58.	 àíZ _| Xr JB© AmH¥${V Ho$ n¡Q>Z© H$mo {dH$ënm| _| 
Xr JB© H$m¡Z-gr AmH¥${V nyam H$aoJr ?

		  ?

	 (A)	 	 (B)	

	 (C)	 	 (D)	

	 (E)	Aà`m{gV

	 59.	 h[a`mUm Ho$ {H$g {Obo _| erVbm _mVm _obm 

bJm`m OmVm h¡ ?

	 (A)	JwéJ«m_

	 (B)	PÁOa

	 (C)	A§~mbm

	 (D)	H$aZmb

	 (E)	Aà`m{gV

	 60.	 EH$ MVw^w©O Ho$ H$moUm| H$m AZwnmV 3 : 4 : 4 : 7 
h¡ & g~go N>moQ>m H$moU kmV H$s{O`o &

	 (A)	 20°	
	 (B)	 60°
	 (C)	 80°	
	 (D)	 140°
	 (E)	Aà`m{gV

	 61.	 dm`w doJ _mnZo Ho$ {bE {H$g CnH$aU H$m Cn`moJ 

{H$`m OmVm h¡ ?

	 (A)	AmoS>mo_rQ>a

	 (B)	W_m©_rQ>a

	 (C)	EZr_mo_rQ>a

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV
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	 62.	 AmZ§X Am¡a XrnH$ Zo H«$_e: ` 22,500 Am¡a  
` 35,000 H$m {Zdoe H$aHo$ ì`dgm` ewê$ {H$`m & 
` 13,800 Ho$ Hw$b bm^ _| go XrnH$ H$m {hñgm 
{H$VZm hmoJm ?

	 (A)	` 5,400	 (B)	` 7,200

	 (C)	` 8,400 	 (D)	` 9,600

	 (E)	Aà`m{gV

	 63.	 `{X 6 nwéf d 8 b‹S>Ho$ {H$gr H$m`© H$mo 10 {XZ 
_| H$a gH$Vo h¢ VWm 26 nwéf d 48 b‹S>Ho$ Cgr 
H$m`© H$mo 2 {XZ _| H$a gH$Vo h¢, Vmo 15 nwéf 
Am¡a 20 b‹S>Ho$ Cg H$m`© H$mo H$aZo _| {H$VZm 
g_` b|Jo ?

	 (A)	4 {XZ

	 (B)	7 {XZ

	 (C)	6 {XZ

	 (D)	8 {XZ

	 (E)	Aà`m{gV

	 64.	 Obdm`w Ho$ dJuH$aU Ho$ ~mao _| {ZåZ{b{IV 
H$WZm| na {dMma H$a| &

	 1.	Obdm`w H$m g~go ì`mnH$ ê$n go BñVo_mb 
{H$`m OmZo dmbm dJuH$aU dr. H$monoZ Ûmam 
{dH${gV {H$`m J`m AZw^dOÝ` Obdm`w 
dJuH$aU `moOZm h¡ &

	 2.	dr. H$monoZ Zo dZñn{V Am¡a Obdm ẁ Ho$ {dVaU 
Ho$ ~rM K{ZîR> g§~§Y H$s nhMmZ H$s &

		  Cn`w©ŠV _| go H$m¡Z-gm/go H$WZ ghr h¡/h¢ ?

	 (A)	Ho$db 1

	 (B)	Ho$db 2

	 (C)	1 Am¡a 2 XmoZm|

	 (D)	Cn`w©ŠV _| go H$moB© Zht

	 (E)	Aà`m{gV

	 62.	A nand and Deepak started a business 

investing ` 22,500 and ` 35,000 

respectively. Out of a total profit of  

` 13,800, Deepak’s share is

	 (A)	 ` 5,400	 (B)	 ` 7,200

	 (C)	 ` 8,400	 (D)	 ` 9,600

	 (E)	 Not attempted

	 63.	 If 6 men and 8 boys can do a piece of 

work in 10 days and 26 men and 48 boys 

can do the same work in 2 days, then the 

time taken by 15 men and 20 boys to do 

the same work will be

	 (A)	 4 days

	 (B)	 7 days

	 (C)	 6 days

	 (D)	 8 days

	 (E)	 Not attempted

	 64.	 Consider the following statements about 
classification of climate.

	 1.	 The most widely used classification 
of climate is the empirical climate 
classification scheme developed by 
V. Koeppen.

	 2.	 V. Koeppen identified a close 
relationship between the distribution 
of vegetation and climate.

		  Which of the above statements is/are 
correct ?

	 (A)	 Only 1

	 (B)	 Only 2

	 (C)	 Both 1 and 2

	 (D)	 None of the above

	 (E)	 Not attempted
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	 65.	 J{UVr` {M•m| H$m ghr H«$_ Mw{ZE Omo ∗ {M• 
H$mo à{VñWm{nV H$aZo na g_rH$aU H$mo ghr ~Zm 
gHo$ &

		  g_rH$aU : 216 ∗ 6 ∗ 8 ∗ 64 ∗ 48 = 500
	 (A)	 ÷, –, ×, +	 (B)	 ÷, +, ×, –
	 (C)	 ×, +, ÷, –	 (D)	 ×, +, –, ÷

	 (E)	Aà`m{gV

	 66.	 h[a`mUm _| MmoIr T>mUr H$hm± pñWV h¡ ?

	 (A)	nmZrnV

	 (B)	H$aZmb

	 (C)	gmoZrnV

	 (D)	Hw$éjoÌ

	 (E)	 Aà`m{gV

	 67.	 ^maVr` g§{dYmZ Ho$ ~mao _| {ZåZ{b{IV H$WZm| 
na {dMma H$a| &

	 i.	 AZwÀN>oX 48 amÁ`m| H$mo {Z:ewëH$ Am¡a 
A{Zdm`© {ejm àXmZ H$aZo H$s n[aH$ënZm 
H$aVm h¡ &

	 ii.	 ^maV H$s g§gX Zo 2006 _| 86 dm± 
gm§{dYm{ZH$ g§emoYZ A{Y{Z`_ àñVwV 
{H$`m &

	 iii.	 86 d| gm§{dYm{ZH$ g§emoYZ Ho$ _mÜ`_ go 
g§{dYmZ _| AZwÀN>oX 21A em{_b {H$`m 
J`m h¡ &

	 iv.	 {ejm H$m A{YH$ma 6 go 14 df© H$s Am`w Ho$ 
~ÀMm| Ho$ {bE EH$ _m¡{bH$ A{YH$ma h¡ &

		  D$na {XE JE H$WZm| _| go H$m¡Z-gm H$WZ ghr h¡ ?

	 (A)	 Ho$db i Am¡a ii

	 (B)	 Ho$db i, ii Am¡a iii

	 (C)	 Ho$db iii Am¡a iv

	 (D)	 Cn`w©ŠV g^r

	 (E)	Aà`m{gV

	 65.	 Select the correct sequence of mathematical 
signs to replace the ∗ symbol and make 
the given equation correct.

	 	E quation : 216 ∗ 6 ∗ 8 ∗ 64 ∗ 48 = 500

	 (A)	 ÷, –, ×, +	 (B)	 ÷, +, ×, –

	 (C)	 ×, +, ÷, –	 (D)	 ×, +, –, ÷

	 (E)	 Not attempted

	 66.	 Where is Chokhi Dhani situated in  

Haryana ?

	 (A)	 Panipat

	 (B)	 Karnal

	 (C)	S onipat

	 (D)	 Kurukshetra

	 (E)	 Not attempted

	 67.	 Consider the following statements about 
Constitution of India.

	 i.	 Article 48 envisages States to provide 
free and compulsory education.

	 ii.	 The Parliament of India brought  
86th Constitutional Amendment Act in 
2006.

	 iii.	 Through 86th Constitutional 
Amendment, Article 21A is inserted 
in the Constitution.

	 iv.	 Right to education is a fundamental 
right for children between 6 to 14 years 
of age.

		  Which of the statements given above are 
correct ?

	 (A)	 Only i and ii

	 (B)	 Only i, ii and iii

	 (C)	 Only iii and iv

	 (D)	 All of the above

	 (E)	 Not attempted
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	 68.	A  candidate who scores 20% of marks in 

an exam fails by 30 marks, while another 

candidate who scores 32% of the marks 

gets 42 marks more than passing marks. 

What is the total marks for the exam ?

	 (A)	 300	 (B)	 400

	 (C)	 500	 (D)	 600

	 (E)	 Not attempted

	 69.	W hich of the following equation 
represents a straight line ?

	 (A)	 x2 + y2 = 25

	 (B)	 2x + 3y = 6

	 (C)	 y = x2 + 4

	 (D)	 None of the above

	 (E)	 Not attempted

	 70.	 The seasonal river Markanda originates 
from which area of Haryana ?

	 (A)	 Aravali Hills

	 (B)	 Shivalik Hills

	 (C)	 Rajasthan Plateau

	 (D)	 Yamunanagar Forest

	 (E)	 Not attempted

	 71.	W here is Maharana Pratap Horticulture 
University located in Haryana ?

	 (A)	S irsa 	

	 (B)	 Jhajjar

	 (C)	S onipat	

	 (D)	 Karnal 

	 (E)	 Not attempted

	 68.	 {H$gr narjm _| EH$ Cå_rXdma 20% A§H$ àmßV 

H$aZo Ho$ ~mX 30 A§H$m| go AZwÎmrU© hmo OmVm h¡, 

O~{H$ Xÿgam Cå_rXdma Omo 32% A§H$ àmßV H$aVm 

h¡, Cgo CÎmrU© A§H$m| go 42 A§H$ A{YH$ {_bVo h¢ & 

narjm Hw$b {H$VZo A§H$m| H$s h¡ ?

	 (A)	 300	 (B)	 400

	 (C)	 500	 (D)	 600

	 (E)	Aà`m{gV

	 69.	 {ZåZ{b{IV _| go H$m¡Z-gm g_rH$aU EH$ grYr 
aoIm H$m à{V{Z{YËd H$aVm h¡ ?

	 (A)	 x2 + y2 = 25

	 (B)	 2x + 3y = 6

	 (C)	 y = x2 + 4

	 (D)	Cn`w©ŠV _| go H$moB© Zht
	 (E)	Aà`m{gV

	 70.	 h[a`mUm Ho$ {H$g joÌ go _m¡g_r ZXr _maH§$S>m 

{ZH$bVr h¡ ?

	 (A)	Aamdbr nhm{‹S>`m±

	 (B)	 {edm{bH$ nhm{‹S>`m±

	 (C)	 amOñWmZ nR>ma

	 (D)	`_wZmZJa dZ

	 (E)	Aà`m{gV

	 71.	 h[a`mUm _| _hmamUm àVmn ~mJdmZr 
{díd{dÚmb` H$hm± pñWV h¡ ? 

	 (A)	 {gagm 	

	 (B)	PÁOa 

	 (C)	gmoZrnV 	

	 (D)	 H$aZmb	  

	 (E)	 Aà`m{gV
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	 72.	 {ZåZ{b{IV H$mo gw_o{bV H$s{OE &

	 amîQ´>r` CÚmZ/dÝ`Ord 	 amÁ`

	 A^`maÊ`

	 a.	 H$m°~}Q> amîQ´>r` CÚmZ	 i.	 npíM_ ~§Jmb

	 b.	 gw§Xa~Z amîQ´>r` CÚmZ	 ii.	 CÎmamI§S>

	 c.	 ~m§YdJ‹T> amîQ´>r` CÚmZ	 iii.	 amOñWmZ

	 d.	 g[añH$m dÝ`Ord A^`maÊ`	 iv.	 _Ü` àXoe
		  a	 b	 c	 d
	 (A)	 iii	 iv	 ii	 i
	 (B)	 ii	 i	 iv	 iii
	 (C)	 iii	 i	 iv	 ii
	 (D)	 iv	 i	 iii	 ii

	 (E)	Aà`m{gV

	 73.	 Q>m±Jar ZXr {H$g ZXr H$s EH$ ghm`H$ ZXr h¡ ?
	 (A)	`_wZm
	 (B)	K½Ja
	 (C)	J§Jm
	 (D)	_maH$ÊS>m
	 (E)	Aà`m{gV

	 74.	 g_mÝVa lo‹T>r 1 1 1 2
P

P
P

P
P

, , , ...
− −  H$m gmd© 

A§Va hmoJm 

	 (A)	 –1	 (B)	 − 1
P

	 (C)	 1	 (D)	
1
P

	 (E)	Aà`m{gV

	 75.	 h[a`mUm H$s {ZåZ{b{IV _| go H$m¡Z-gr n[a`moOZm 
A{\«$H$m Ho$ J«oQ> J«rZ dm°b go ào[aV h¡ ?

	 (A)	 {edm{bH$ J«rZ dm°b n[a`moOZm

	 (B)	M§S>rJ‹T> J«rZ ~oëQ> n[a`moOZm

	 (C)	Aamdbr J«rZ dm°b n[a`moOZm

	 (D)	h[a`mUm dZ nwZ{Z©_m©U n[a`moOZm

	 (E)	Aà`m{gV

	 72.	 Match the following.
	 National Parks/	S tates 
	 Wildlife Sanctuaries
	 a.	 Corbett National 
		  Park	 i.	W est Bengal
	 b.	S underbans 
		  National Park	 ii.	 Uttarakhand
	 c.	 Bandhavgarh 
		  National Park	 iii.	 Rajasthan
	 d.	S ariska Wildlife 
		  Sanctuaries	 iv.	 Madhya Pradesh
		  a	 b	 c	 d
	 (A)	 iii	 iv	 ii	 i
	 (B)	 ii	 i	 iv	 iii
	 (C)	 iii	 i	 iv	 ii
	 (D)	 iv	 i	 iii	 ii
	 (E)	 Not attempted

	 73.	 Tangri river is a tributary of which river ?

	 (A)	 Yamuna

	 (B)	G haggar

	 (C)	G anga

	 (D)	 Markanda

	 (E)	 Not attempted

	 74.	 The common difference of the Arithmetic 

Progression 1 1 1 2
P

P
P

P
P

, , , ...
− −  is

	 (A)	 –1	 (B)	 − 1
P

	 (C)	 1	 (D)	
1
P

	 (E)	 Not attempted

	 75.	W hich of the following Project of Haryana 
is inspired by Great Green Wall of Africa ?

	 (A)	 Shivalik Green Wall Project

	 (B)	 Chandigarh Green Belt Project

	 (C)	 Aravali Green Wall Project

	 (D)	 Haryana Forest Rebuild Project

	 (E)	 Not attempted
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Direction (Q. No. 76 and 77) : Fill in the blanks 
in the following paragraph by choosing the most 
appropriate alternative from the alternatives 
given below it.

The cave of Ajanta and Ellora _________ (76) 
the magnificent works of sculpture. Whoever 
goes there becomes spell bound. Thousands 
_________ (77) tourists visit these places every 
year. One can stay in the guest house.

	 76.	 (A	)	 is	 (B)	 was

		  (C)	 are	 (D)	 were

	 (E)	 Not attempted

	 77.	 (A)		 for	 (B)	 from

		  (C)	 of	 (D)	 at

		  (E)		 Not attempted

	 78.	 Choose the correctly spelt word from the 
following alternatives.

	 (A)	 permanant	 (B)	 permenent
	 (C)	 parmanent	 (D)	 permanent
	 (E)	 Not attempted

	 79.	 Give one word substitute for the following 
expression. 

		A   period of ten years.
	 (A)	 Decade	 (B)	 Century
	 (C)	 Pioneer	 (D)	 Cavalry
	 (E)	 Not attempted

	 80.	 Choose the correct synonym of the 
following word from the alternatives given 
below it. 

		  Ultimate
	 (A)	 Beginning	 (B)	 Famous
	 (C)	 Final	 (D)	V ictory
	 (E)	 Not attempted

	 81.	 Fill in the blank with the correct 
alternative.

		  I _______ for my pen. Have you seen it ?
	 (A)	 will look	 (B)	 looking
	 (C)	 look	 (D)	 am looking
	 (E)	 Not attempted

	 82.	 Choose the correct antonym of the 
following word from the alternatives given 
below it.

		  Blooming
	 (A)	 Mild	 (B)	 Flowering
	 (C)	 Quite	 (D)	 Fading
	 (E)	 Not attempted

	 83.	 Choose the correct meaning of the 
following idiom or expression. 

		  To drive home
	 (A)	 To find one’s roots 
	 (B)	 To return to place of rest
	 (C)	 Back to original position
	 (D)	 To emphasise
	 (E)	 Not attempted

	 84.	 Fill in the blank by choosing correct 
alternative from the alternatives given 
below it.

		  He was born _______ 1945.
	 (A)	 on	 (B)	 at
	 (C)	 in	 (D)	 for
	 (E)	 Not attempted

	 85.	 Choose the correct alternative to fill in the 
blank with appropriate active or passive 
verb forms. 

		  It _______ since yesterday.
	 (A)	 is raining
	 (B)	 have been raining
	 (C)	 has been raining
	 (D)	 was raining
	 (E)	 Not attempted

English Language
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	 86.	 "gw + AmJV = ñdmJV' {H$g g§{Y H$m  
CXmhaU h¡ ?

	 (A)	`U²
	 (B)	d¥{Õ
	 (C)	JwU
	 (D)	XrK©
	 (E)	Aà`m{gV

	 87.	 "Ohm± H$moB© Z ahVm hmo' Cgo Š`m H$hVo h¢ ?
	 (A)	 {ZY©Z
	 (B)	 {Z_©_
	 (C)	àdmgr
	 (D)	 {ZO©Z
	 (E)	Aà`m{gV

	 88.	 "Ambgr' EH$ {deofU eãX h¡, BgH$m 
^mddmMH$ g§km ê$n Mw{ZE &

	 (A)	Ambñ`
	 (B)	AmbgrnZ
	 (C)	Ambgr
	 (D)	Abñ`m
	 (E)	Aà`m{gV

	 89.	 "nVP‹S>' {H$g g_mg H$m CXmhaU h¡ ?
	 (A)	~hþd«r{h
	 (B)	Aì``r^md
	 (C)	Û§Û
	 (D)	H$_©Yma`
	 (E)	Aà`m{gV

	 90.	 ""`hm± nhbo ~§Oa ŷ{_ Wr naÝVw A~ IoV bhbhm 
aho h¢ &'' `h {H$g dmŠ` H$m CXmhaU h¡ ?

	 (A)	g§`wŠV dmŠ`
	 (B)	gab dmŠ`
	 (C)	 {_{lV dmŠ`
	 (D)	 BZ_| go H$moB© Zht

	 (E)	Aà`m{gV

	 91.	 ""Vw_ _Z bJmH$a n‹T>Vo Vmo Adí` nmg hmo  

OmVo &'' `h dmŠ` {H$g H$mb H$m CXmhaU h¡ ?

	 (A)	nyU© ^yVH$mb

	 (B)	AnyU© ^yVH$mb

	 (C)	gm_mÝ` ^yVH$mb

	 (D)	hoVw-hoVw_X² ^yVH$mb 

	 (E)	Aà`m{gV

	 92.	 "{Z[ajU' EH$ AewÕ eãX h¡, {ZåZ{b{IV eãXm| 

_| go ghr eãX H$mo Mw{ZE &

	 (A)	Z¡[ajU

	 (B)	ZrarjZ

	 (C)	 {Z[aeZ

	 (D)	 {ZarjU

	 (E)	Aà`m{gV

	 93.	 ""~oH$ma go ~oJma ^br'' Bg bmoH$mopŠV H$m ghr 

AW© h¡

	 (A)	Imbr ~¡R>Zo go Hw$N> H$aZm hr AÀN>m h¡ &

	 (B)	àË`j H$mo à_mU H$s Amdí`H$Vm Zht &

	 (C)	AMmZH$ H$moB© bm^ hmoZm &

	 (D)	n[al_ go hr AÀN>m \$b {_bVm h¡ &

	 (E)	Aà`m{gV

	 94.	 Omo eãX g§km `m gd©Zm_ H$s {deofVm ~VmVo h¢, 

CÝh| Š`m H$hVo h¢ ?

	 (A)	H$maH$

	 (B)	 {H«$`m {deofU

	 (C)	 {H«$`m

	 (D)	 {deofU

	 (E)	Aà`m{gV

{hÝXr ^mfm
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	 95.	 {H«$`m Ho$ {Og ê$n go ~hþV g_` nhbo H$m`© Ho$ 

g_mßV hmoZo H$m ~moY hmo, Cgo Š`m H$hVo h¢ ?

	 (A)	AnyU© ^yVH$mb

	 (B)	nyU© ^yVH$mb

	 (C)	g§{X½Y ^yVH$mb

	 (D)	hoVw-hoVw_X² ^yVH$mb

	 (E)	Aà`m{gV

	 96.	 "AñWm`r' eãX Ho$ ghr AW© H$mo Mw{ZE &

	 (A)	N>moQ>m| Ho$ à{V ñZoh-ÑpîQ>

	 (B)	gm_m{OH$ {Z`_m| `m H$mZyZm| H$m Cëb§KZ

	 (C)	Mmb-MbZ

	 (D)	Wmo‹S>o g_` VH$ ahZo dmbm 

	 (E)	Aà`m{gV

	 97.	 "AŠb na nËWa n‹S>Zm' _whmdao H$m ghr AW© 

Mw{ZE &

	 (A)	AnZr hm{Z ñd`§ H$aZm &

	 (B)	~hmZm ~ZmZm &

	 (C)	gmoM {dMma H$aZm &

	 (D)	Hw$N> g_P _| Z AmZm & 

	 (E)	Aà`m{gV

	 98.	 {ZåZ{b{IV eãXm| _| go "ZXr' H$m n`m©`dmMr 

eãX Mw{ZE &

	 (A)	g_ra

	 (B)	g[aVm

	 (C)	YaVr 

	 (D)	Mnbm

	 (E)	Aà`m{gV

	 99.	 ^maV _| "{hÝXr {Xdg' H$~ _Zm`m OmVm h¡ ?

	 (A)	14 {gV§~a

	 (B)	15 AŠQy>~a

	 (C)	26 OZdar

	 (D)	14 _mM©

	 (E)	Aà`m{gV

	100.	 daZm, Am¡a, Vm{H$, Vmo, {H$ Am{X eãX {H$g 

Aì`` Ho$ A§VJ©V AmVo h¢ ?

	 (A)	 {dñ_`m{X~moYH$

	 (B)	g_wÀM`~moYH$

	 (C)	g§~§Y~moYH$

	 (D)	 {H«$`m {deofU

	 (E)	Aà`m{gV
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